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Seventh Semester B.E. Degree E xamia$rtffbn, Jan./Feb .2021
Advanced Gomputer Arghitectures

Time: 3 hrs. ;;''::ri:i"' Max. Marks: 100
,"s

Note: Answer any FIVE full questions, chopffiONE full questionf4el*;,#ach module.
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I a. With the help of block diagrams, explain Flynn's classification of,eomputer architectures.
.rriii*. ,:::' :r: (10 Marks)

b. Describe the shared-memory multiprocessor models. (10 Marks)
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: :i .;,. rA2 a. Define the types of data-dependence. Also computg_ t!e tlependence graph for the following
code segment:

S,: Load Rl, A ll,d$* ;'])'

Sz :Add R2, Rl
Sr :Move Rl, R3
S+ :StoreB.,"Rl ;."' , (loMarks)

b. Explain thp chdracteristics of the following*tatic connection networks :

(i) Lur rray. (ii) Ring. (iii) Binary tree. , 
(iv) Mesh. (10 Marks)

Module-2
3 a. Distingilish between RISC and"eISC processor u.lli1,ffifr.s, with bloc,f diagrams...^ 

--. +-n (10 Marks)

b. Explain VLIW processo{ {rq[ritecture and its Prpelidd'oferations. n.11i,*]i, (10 Marks)

0R'
4 a. Compare the two vir$al memory models,toi,ifttrltiprocessor.dfl*sJems. (10 Marks)

b. Illustrate four lev0'|.,,pemor{ hierarchy. .. . :' (04 Marks)

c. Define the variotis.pbge replacement"lq,licies. . (06 Marks)

a" - -,,r ".:.$I[!l@3.
5 a. Illustrate'.daiiy-chained and dishibuted arbitration feChniques. (10 Marks)

b. List the vaiious Cache mapping schemes. Also explain any two schemes. (10 Marks)
'11:' r! ,.t*r' 0R

6 u. 
*,.-Coni,Oer 

the nUowure:@Jr1 reservati.q;ffi able :
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(iv) List all the sittiple cycles.
(v) List allfhe greedy cycles.
(vi) Detgiiltfre the minimal average Latency.

Explain the uSa$e bf prefetch buffers in instruction pipelining.
Illustrate internal data forwarding technique.

(i) What are the foJbidden latencies?
(i1) What is the inititillrcollision vector?
(iii) Draw the sBt"eitransition diagram
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